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Formulas
1 acre = 43,560 ft? cr =22 =2 P=IxE
cVv E
E==L rR=E [=Z% E=1IxR
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Cost = Electrical Energy x Rate

Power Used = Sum of Individual Loads

Volume of a Cylinder = nr?xh

Circumference of a Circle = 2nr or D

1yd3 = 27ft3 1ft3 = 7.48 gallons
746 Watts = 1hp Hp = e
5252
Hp = ZLPEN): 1.4725 = 1mph
746 sec
Mcdry = 222" 2100

1 kW =1000 W

Electrical Energy = Power x Time

Power Output

% Ef ficiency = x 100

Power Input

SXWxEff

Field Capacity = .y

, nr?
Area of a Circle = -

lha = 2.47ac 1kg = 2.2lbs
_ SxD _ 2t xTx N
~ 375 P = 33000
soft _
min - 1mph
Mcwet = 222" v 100

Square of Shingles = 100 ft?
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